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 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 16 h¢ &  

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >27 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 

_| 10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 16 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 27 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & 

(ii) àíZ g§»`m 1 – 5 VH$ àË`oH$ àíZ EH$ A§H$ H$m$ h¡ & àË`oH$ àíZ H$m CÎma 20 eãXm| go 
A{YH$ Zht hmoZm Mm{hE & 

(iii) àíZ g§»`m 6 – 10 VH$ àË`oH$ àíZ Xmo A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 40 eãXm| go 
A{YH$ Zht hmoZm Mm{hE & 

(iv) àíZ g§»`m 11 – 16 VH$ àË`oH$ àíZ Mma A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 100 eãXm| 
go A{YH$ Zht hmoZm Mm{hE & 

(v) àíZ g§»`m 17 – 21 VH$ àË`oH$ àíZ nm±M A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 150 eãXm| 
go A{YH$ Zht hmoZm Mm{hE & 

(vi) àíZ g§»`m 21 _mZ{MÌ na AmYm[aV àíZ h¡ &  BgHo$ CÎma AnZr CÎma-nwpñVH$m _|  
{b{IE & 

(vii) àíZ g§»`m 22 – 27 VH$ àË`oH$ àíZ N>… A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 150 eãXm| 
go A{YH$ Zht hmoZm Mm{hE & 

 

General Instructions : 

(i) All questions are compulsory. 

(ii) Questions number 1 – 5 are of one mark each. The answers to these 

questions should not exceed 20 words each. 

(iii) Questions number 6 – 10 are of two marks each. The answers to these 

questions should not exceed 40 words each. 

(iv) Questions number 11 – 16 are of four marks each. The answers to these 

questions should not exceed 100 words each. 

(v) Questions number 17 – 21 are of five marks each. The answers to these 

questions should not exceed 150 words each. 

(vi) Question number 21 is a map-based question. Write its answers in your 

answer-book. 

(vii) Questions number 22 – 27 are of six marks each. The answers to these 

questions should not exceed 150 words each. 
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1. erV `wÕ H$mb Ho$ Xm¡amZ g§̀ wŠV amÁ` A_arH$m Am¡a gmo{d`V g§K H$s {dMmaYmamAm| _| H$moB© 

EH$ AÝVa ñnîQ> H$s{OE & 1 

 Explain any one difference between the ideologies represented by the US 

and the USSR during the Cold War period. 

2. A_arH$s dM©ñd Ho$ AdamoYH$ Ho$ ê$n _| {ZåZ{b{IV _| go H$m¡Z-gm H$WZ ‘gË` ’ h¡ ? 1 

(a) ê$g H$s ~‹T>Vr hþB© e{ŠV & 

(b) {díd _| \¡$bm hþAm AmV§H$dmX & 

(c) A_arH$s amÁ` H$m AnZm gm§ñWm{ZH$ T>m±Mm & 

(d) EH$ ZB© Am{W©H$ e{ŠV Ho$ ê$n _| ^maV H$m CX` & 

 Which one of the following statements is ‘true’ about the constraints on 

American hegemony ? 

(a) The increasing power of Russia. 

(b) The widespread terrorism in the world. 

(c) The institutional structure of the American State itself. 

(d) The rise of the India as a new economic power. 

3. 1975 _| bJmE JE amîQ´>r` AmnmVH$mb H$mo bmoJm| Ûmam ZmngÝX H$aZo Ho$ {bE CÎmaXm`r 

{H$gr EH$ H$maU H$s nhMmZ H$s{OE & 1 

 Identify the reason responsible for the people’s disliking of the National 

Emergency imposed in 1975. 

4. OZ Am§XmobZm| Ho$ {H$gr EH$ bm^ H$mo COmJa H$s{OE & 1 

 Highlight any one advantage of the popular movements. 

5. ‘{MnH$mo Am§XmobZ’ H$m Zm_ H¡$go n‹S>m ? 1 

 How did the ‘Chipko Movement’ get its name ? 
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6. em°H$ Woaonr (AmKmV nhþ±MmH$a CnMma H$aZm) Ho$ {H$Ýht Xmo n[aUm_m| H$m AmH$bZ  

H$s{OE & 12=2 

 Assess any two consequences of shock therapy. 

7. H$moB© Xmo CXmhaU XoH$a `h Xem©BE {H$ d¡ídrH$aU Zo h_mar ImZo-nrZo H$s AmXVm| H$mo à^m{dV 
{H$`m h¡ &  12=2 

 Give any two examples to show that globalisation has affected our food 

habits.  

8. n`m©daU g§~§Yr {H$Ýht Xmo _wÔm| H$m C„oI H$s{OE Omo d¡pídH$ amOZr{V H$s {MÝVm H$m {df` 

~Z MwHo$ h¢ & 12=2 

 Mention any two environmental issues that have become the concern of 

global politics. 

9. ñV§^ ‘A’ _| {XE JE VÏ`m| H$m, ñV§^ ‘B’ _| {XE JE VÏ`m| go gmW©H$ {_bmZ H$s{OE : 

     ñV§^  ‘A’   ñV§^  ‘B’ 

(a) {ÛamîQ´> Ho$ {gÕmÝV H$mo àñVwV H$aZo dmbm ZoVm (i) gwHw$_ma goZ  

(b) {OgZo 1952 _| EH$ AbJ amÁ` H$s _m±J H$s (ii) E_.E. {OÞm   

(c) ^maV H$m àW_ MwZmd Am`wŠV (iii) gr. amOJmonmbmMmar 

(d) ñdV§Ì nmQ>u H$m g§ñWmnH$ (iv) nmoÅ>r> lram_wbw 
2

1
4=2 

 Match the facts given in Column ‘A’ with those in Column ‘B’ in a 

meaningful way : 

               Column ‘A’  Column ‘B’ 

(a) Proponent of two-nation theory (i) Sukumar Sen  

(b) Raised the demand for a separate (ii) M.A. Jinnah 

 State in 1952  

(c) First Election Commissioner (iii) C. Rajagopalachari 

 of India 

(d) Founder of the Swatantra Party (iv) Potti Sreeramulu  
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10. AmnHo$ {dMma _|, ^maV Ûmam JwQ>{ZanojVm H$s Zr{V H$mo MwZZm H$hm± VH$ Ý`m`g§JV h¡ ? 2 

 In your opinion, how far is India justified in choosing the policy of  

non-alignment ?  

11. `yamonr` g§K H$mo à^mdembr g§JR>Z ~ZmZo dmbo {H$Ýht Mma H$maH$m| H$s ì`m»`m H$s{OE & 14=4 

 Explain any four factors that make the European Union an influential 

organisation. 

12. {H$Z Xmo _w»` Cå_rXm| Ho$ AmYma na 1945 _|, g§`wŠV amîQ´> H$s ñWmnZm H$s JB© Wr ? g§`wº$ 

amîQ´> Ho$ {H$Ýht Xmo A§Jmo§ VWm Xmo EO|{g`m| H$m C„oI H$s{OE & 2+2=4 

 State the two main expectations on the basis of which the United Nations 

was formed in 1945. Mention any two organs and agencies each of the 

UN. 

13. àW_ VWm {ÛVr` n§Mdfu` `moOZmAm| Ho$ CÔoí`m| VWm CnbpãY`m| H$s VwbZm H$s{OE & Bg 

AmYma na `h {ZîH$f© {ZH$m{bE {H$ XmoZm| _| go H$m¡Z-gr `moOZm Zo ^maV Ho$ {dH$mg H$mo EH$ 

Z`m Am`m_ {X`m & 3+1=4 

 Compare the aims and achievements of the First and the Second Five 

Year Plans to conclude which of the two was a turning point in India’s 

development. 

14. ^maV H$s na_mUw Zr{V H$s ì`m»`m H$s{OE & 4 

 Explain the Nuclear Policy of India. 

15. ‘JR>~§YZ H$s gaH$ma|, ^maV _| bmoH$V§Ì Ho$ {bE daXmZ {gÕ hþB© h¢ &’ Bg H$WZ Ho$ nj _| 
H$moB© Xmo Cn ẁŠV VH©$ Xr{OE & 22=4 

 ‘Coalition Governments proved to be a boon for democracy in India.’ 

Support this statement with any two suitable arguments. 
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16. Z_©Xm ~MmAmo Am§XmobZ H$s {H$Ýht Mma _m±Jm| H$mo gyMr~Õ H$s{OE & 14=4 

 List any four demands of the Narmada Bachao Andolan. 

17. {ZåZ{b{IV AdVaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm CgHo$ ZrMo {XE JE àíZm| Ho$ 
CÎma {b{IE :  

  nañna {damoYr JwQ>m| Ho$ AnojmH¥$V N>moQ>o Xoem| Zo _hme{ŠV`m| Ho$ gmW  

AnZo-AnZo Ow‹S>md H$m BñVo_mb {ZOr {hV _| {H$`m & BZ Xoem| H$mo ñWmZr` à{VÛ§Ûr 

Xoe Ho$ {Ibm\$ gwajm H$m dm`Xm {_bm, h{W`ma Am¡a Am{W©H$ _XX {_br & BZ Xoem| 

H$s AnZo n‹S>mogr Xoem| go hmo‹S> Wr & _hme{ŠV`m| Ho$ ZoV¥Ëd _| JR>~§YZ H$s ì`dñWm 

go nyar Xþ{Z`m Ho$ Xmo Io_m| _| ~±Q> OmZo H$m ˜Vam n¡Xm hmo J`m & 

(i) Bg AdVaU _| C{„{IV XmoZm| _hme{ŠV`m| Ho$ Zm_ {b{IE & 

(ii) JR>~§YZ H$s ì`dñWm Zo N>moQ>o X oem| H$mo AnZo n‹S>mogr Xoem| go ajm H$m AmídmgZ 

H¡$go {X`m ? 

(iii) _hme{ŠV`m| Ûmam N>moQ>o Xoem| H$mo AnZo JR>~§YZ _| em{_b H$aZo Ho$ H$moB© Xmo 

H$maU ñnîQ> H$s{OE & 1+2+2=5   

 Study the following passage carefully and answer the questions that 

follow : 

  The smaller States in the alliances used the link to the 

superpowers for their own purposes. They got the promise of 

protection, weapons and economic aid against their local rivals, 

mostly regional neighbours with whom they had rivalries. The 

alliance systems led by the two superpowers, therefore, 

threatened to divide the entire world into two camps. 

(i) Name the two superpowers that are referred to in this 

passage. 

(ii) How did the ‘alliance systems’ assure to protect the smaller 

States from their regional neighbours ? 

(iii) Explain any two reasons for the big powers to have smaller 

countries as their allies. 



59/1 7 P.T.O. 

18. {ZåZ{b{IV AdVaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm CgHo$ ZrMo {XE JE àíZm| Ho$ 
CÎma {b{IE : 

  ^mfmdma amÁ`m| Ho$ nwZJ©R>Z go {d{^ÞVm Ho$ {gÕmÝV H$mo ñdrH¥${V  

{_br & O~ h_ H$hVo h¢ {H$ ^maV Zo bmoH$V§Ì AnZm`m h¡ Vmo BgH$m grYm-gm 

_Vb~ BVZm ^a Zht hmoVm {H$ ... ^maV _| MwZmd H$admE OmVo h¢ & ^maV Ho$ 

bmoH$Vm§{ÌH$ hmoZo H$m EH$ d¥hÎma AW© h¡ & bmoH$V§Ì H$mo MwZZo H$m AW© Wm 

{d{^ÞVmAm| H$mo nhMmZZm Am¡a CÝh| ñdrH$ma H$aZm & gmW hr `h ^r _mZH$a 

MbZm {H$ {d{^ÞVmAm| _| Amngr {damoY ^r hmo gH$Vo h¢ &  

(i) ^maV _| bmoJm| Ho$ gm§ñH¥${VH$ OrdZ _| {d{^ÞVm Ho$ {H$Ýht Xmo ê$nm| H$s nhMmZ 

H$s{OE & 

(ii) {H$Ýht Xmo CXmhaUm| Ûmam Xem©BE {H$ ^maV _| bmoH$V§Ì, {dMmam| H$s ~hþbVm 

Am¡a {d{^ÞVmAm| H$s ñdrH$m`©Vm go Ow‹S>m hþAm h¡ & 

(iii) bmoH$V§Ì H$mo gwÑ‹T> ~ZmZo _| MwZmdm| H$s ^y{_H$m H$m AmH$bZ H$s{OE & 1+2+2=5   

 Study the following passage carefully and answer the questions that 

follow : 

  The linguistic states underlined the acceptance of the 

principle of diversity. When we say that India adopted 

democracy, it does not simply mean that India … adopted the 

format of elections. The choice was larger than that. It was a 

choice in favour of recognising and accepting the existence of 

differences which could at times be oppositional. Democracy, in 

other words, was associated with plurality of ideas and ways of 

life. 

(i) Identify any two forms of diversity in the cultural life of 

people in India. 

(ii) Give any two examples to show that democracy in India is 

associated with plurality of ideas and acceptance of 

differences. 

(iii) Assess the role of elections in strengthening democracy.  
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19. {ZåZ{b{IV CÕaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma 
{b{IE :  

  AmnmVH$mb go ha H$moB© ZmJ[aH$ A{YH$mam| Ho$ à{V µÁ`mXm gMoV hþAm & 

AmnmVH$mb H$s g_m{ßV Ho$ ~mX AXmbVm| Zo ì`{ŠV Ho$ ZmJ[aH$ A{YH$mam| H$s 

ajm _| g{H«$` ^y{_H$m {Z^mB© & Ý`m`nm{bH$m AmnmVH$mb Ho$ dŠV ZmJ[aH$ 

A{YH$mam| H$s H$maJa VarHo$ go ajm Zht H$a nmB© Wr & 

(i) 1975 _| Kmo{fV AmnmVH$mb Ho$ Xm¡amZ ^maV Ho$ ZmJ[aH$m| H$m H$m¡Z-gm _yb A{YH$ma 

g~go A{YH$ à^m{dV hþAm ? 

(ii) AmnmVH$mb Ho$ níMmV², AXmbVm| Zo ì`{ŠV Ho$ ZmJ[aH$ A{YH$mam| H$s ajm _| g{H«$` 

^y{_H$m {Z^mZr Š`m| ewê$ H$s ? 

(iii) Š`m ‘ZmJ[aH$ A{YH$mam| Ho$ A{YH$ma’ na H$moB© à{V~§Y Zht hmoZm Mm{hE ? AnZo 

CÎma Ho$ nj _| EH$ Cn ẁŠV VH©$ Xr{OE & 1+2+2=5   

 Study the following passage carefully and answer the questions that 

follow : 

  The Emergency made everyone more aware of the value 

of civil liberties. The Courts too, have taken an active role after 

the Emergency in protecting the civil liberties of the 

individuals. This is a response to the inability of the judiciary to 

protect civil liberties effectively during the Emergency. 

(i) Which Fundamental Right of the citizens was affected the 

most during the Emergency period in 1975 ? 

(ii) Why did the judiciary start taking an active role after the 

Emergency in protecting the civil liberties of the individuals ? 

(iii) Should there be no restriction on the ‘Right to Civil Liberties’ ? 

Support your answer with one suitable argument. 
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20. ZrMo {XE JE H$mQ>©yZ H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma  

{b{IE :  

 

 

(i) Bg H$mQy>©Z go gå~pÝYV Xem©E Xoe H$mo nhMm{ZE & 

(ii) Bg Xoe _| Mb ahr emgZ àUmbr H$m _yë`m§H$Z H$s{OE & 

(iii) ^maV H$s emgZ ì`dñWm H$mQy>©Z go gå~pÝYV Xoe H$s emgZ ì`dñWm go {H$g àH$ma 

{^Þ h¡ ? 1+2+2=5 
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Study the cartoon given below carefully and answer the questions that 

follow : 

 
 

(i) Identify the country related to this cartoon. 

(ii) Evaluate the system of governance being practised in this country. 

(iii) How is the system of governance in India different from that of the 

country related to the cartoon ? 

I AM 
ALWAYS 
GOOD AT 

CALCULATION 
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 20 Ho$ ñWmZ na h¢ :   

Note :   The following questions are for the Visually Impaired Candidates only, 

in lieu of Question No. 20 :  

(20.1) ~m§½bmXoe H$~ go H$~ VH$ nm{H$ñVmZ H$m EH$ ^mJ Wm ? C„oI H$s{OE & 

(20.2) ^maV Am¡a MrZ Ho$ ~rM {ddmX Ho$ {H$Ýht Xmo _wÔm| H$mo COmJa H$s{OE & 

(20.3) ‘gmH©$’ (Xjog) Ho$ {H$Ýht Mma gXñ` Xoem| Ho$ Zm_ {b{IE & 1+2+2=5  

(20.1) Mention the period for which Bangladesh was a part of 

Pakistan. 

(20.2) Highlight any two conflicts between India and China. 

(20.3) Name any four member countries of the ‘SAARC’. 

 

21. ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ _| nm±M amÁ`m| H$mo    VWm    

Ûmam Xem©`m J`m h¡ & ZrMo Xr JB© OmZH$mar H$s ghm`Vm go CÝh| nhMm{ZE VWm CZHo$ ghr 

Zm_, à`moJ H$s JB© OmZH$mar H$s H«$_-g§»`m VWm gå~pÝYV Aja g{hV, {ZåZ{b{IV 

Vm{bH$m Ho$ AZwgma AnZr CÎma-nwpñVH$m _| {b{IE :  

à`moJ H$s JB© OmZH$mar 
H$s H«$_-g§»`m 

gå~pÝYV Aja  Xoe H$m Zm_ 

(i)   

(ii)   

(iii)   

(iv)   

(v)   
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(i) dh amÁ` Omo 1947 _| {d^mOZ Ho$ g_` ~±Q> OmZo Ho$ H$maU ApñVËd _| Am`m & 

(ii) dh Xoer [a`mgV {OgHo$ emgH$ Zo ^maV Ho$ gmW AnZo {db` H$m {damoY {H$`m Wm & 

(iii) dh amÁ` Ohm± ^maV Ho$ àW_ Am_-MwZmd _| H$m±J«og nmQ>u ~hþ_V nmZo _| Ag\$b ahr 
Wr & 

(iv) ^maV H$m 29dm± amÁ` & 

(v) dh amÁ` {OgH$m JR>Z 1966 _| {H$`m J`m &  51=5 

 

In the given political outline map of the India, five states  

have been shown as                         and     . Identify them on the basis of  

information given below and write their correct names in your answer 

book with the respective serial number of the information used and the 

alphabet concerned as per the following format : 

Sr.  no.   of   the 

information used 

Alphabet 

concerned 

Name of the 

State 

(i)   

(ii)   

(iii)   

(iv)   

(v)   

(i) The State which came into existence due to bifurcation at the time 

of partition in 1947. 

(ii) A Princely State whose ruler resisted its merger with India. 

(iii) The State where the Congress Party failed to win majority in the 

First General Elections of India. 

(iv) The 29th State of India. 

(v) The State which was created in 1966. 
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àíZ g§. 21 Ho$ {bE For question no. 21 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 21 Ho$ ñWmZ na  
h¢ :   

Note :   The following questions are for the Visually Impaired Candidates only, 

in lieu of Question No. 21 : 

(21.1) ^maV Ho$ npíM_ _| {H$g amÁ` H$m ~±Q>dmam 1947 _| {d^mOZ Ho$ g_` hþAm Wm ? 

(21.2) {H$g Xoer [a`mgV Ho$ {ZµOm_ Zo ^maVr` g§K _| AnZo {db` H$m {damoY {H$`m 

Wm ? 

(21.3) 1952 _| ^maV Ho$ àW_ Am_-MwZmd _| H$m±J«og {H$g amÁ` _| ~hþ_V àmßV Zht 
H$a gH$s ? 

(21.4) ^maV Ho$ 29d| amÁ` H$m Zm_ {b{IE & 

(21.5) 1966 _| {H$g amÁ` H$m JR>Z {H$`m J`m ? 51=5 

(21.1) Which Western State of India was bifurcated at the time of 

partition in 1947 ? 

(21.2) Nizam of which Princely State opposed its merger with the 

Union of India ? 

(21.3) In which State could the Congress not win majority in the First 

General Elections of India in 1952 ? 

(21.4) Name the 29th State of India. 

(21.5) Which State was created in 1966 ? 

 

22. gmo{d`V g§K Ho$ {dKQ>Z Ho$ {bE CÎmaXm`r {H$Ýht N>: H$maUm| H$mo ñnîQ> H$s{OE &  61=6 

AWdm 

 erV `wÕ H$mo h{W`mam| H$s hmo‹S> Ho$ gmW-gmW h{W`mam| Ho$ {Z §̀ÌU H$s Amoa bo OmZo dmbo 

{H$Ýht VrZ H$maUm| H$mo ñnîQ> H$s{OE & 32=6 

Explain any six reasons responsible for the disintegration of the USSR. 

OR 

Explain any three reasons that led the Cold War to an arms race as well 

as arms control. 



59/1 15 P.T.O. 

23. g¡Ý` e{ŠV Ho$ ê$n _| A_arH$s dM©ñd H$m narjU H$s{OE & 6 

   AWdm 

 nm{H$ñVmZ _| bmoH$V§Ì H$s H$m`©àUmbr H$m {díbofU H$s{OE & 6 

Examine the hegemony of the United States as a hard power. 

   OR 

Analyse the working of democracy in Pakistan. 

24. g§`wº$ amîQ´> gwajm n[afX Ho$ g§JR>ZmË_H$ T>m±Mo Am¡a H$m ©̀àUmbr H$m dU©Z H$s{OE & 3+3=6 

AWdm 

 gwajm H$mo ˜Vao Ho$ {H$Ýht VrZ ZE òmoVm| H$m dU©Z H$s{OE & 23=6 

Describe the organisational structure and working the U.N. Security 

Council. 

OR 

Describe any three new sources of threat to security. 

25. n`m©daU H$s ajm Ho$ {bE Eogo H$moB© Mma H$X_ gwPmBE {OÝh| ^maV gaH$ma Ûmam Vwa§V CR>m`m 

OmZm Mm{hE & 1
2

1
4=6  

AWdm 

 Eogo H$moB© Mma H$X_ gwPmBE Omo ^maVr` g§ñH¥${V H$mo d¡pídH$ ñVa na bmoH${à` ~ZmZo Ho$ 

{bE ^maV gaH$ma Ûmam CR>mE OmZo Mm{hE & 1
2

1
4=6 

Suggest any four steps that the Government of India should immediately 

take to save the environment. 

OR 

Suggest any four steps that the Government of India should take to 

popularise the Indian culture at the global level. 
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26. 1977 _| AmnmVH$mb hQ>mE OmZo Ho$ ~mX ^maV _| KQ>r {H$Ýht VrZ _w»` amOZr{VH$ KQ>ZmAm| 

H$m dU©Z H$s{OE &  23=6 

AWdm 

 Eogr {H$Ýht VrZ _w»` KQ>ZmAm| H$m dU©Z H$s{OE {OZHo$ n[aUm_ñdê$n 1969 _| H$m±J«og 

nmQ>u H$m Am¡nMm[aH$ {d^mOZ hþAm & 1
2

1
4=6 

Describe any three major political developments that took place in India 

after the lifting of Emergency in 1977. 

OR 

Describe any three major events that led to the formal split in the 

Congress Party in 1969.  

 

27. gh_{V Ho$ Eogo {H$Ýht VrZ _wÔm| H$mo COmJa H$s{OE Omo `h Xem©E± {H$ Vrd« à{VÛpÝÛVm Am¡a 

{ddmXm| Ho$ ~rM A{YH$m§e amOZr{VH$ Xbm| _| Am_ gh_{V C^ar h¡ & 23=6 

AWdm 

 ^maV H$s amîQ´>r` AIÊS>Vm Am¡a EH$Vm H$mo gwÑ‹T> ~ZmZo hoVw Eogo H$moB© VrZ Cnm` gwPmBE Omo 

AmnH$s am` _| AË`§V à^mdembr hm| &  23=6 

Highlight any three issues of consensus to show that in the midst of 

severe competitions and conflicts, a consensus has appeared among most 

political parties. 

OR 

Suggest any three measures which, in your opinion, are very effective to 

strengthen the national integrity and unity of India. 


